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a. With gencral lbrmat. cxplain the various fields of IPV6.
b. Explain thc intra-AS routing protocol in detail.

Module-4
a.Explatnthe3Gce11ularnetworku..l.,,m1hneatc1iagram.
b. Explain the tw'o types of routing approaches to mobile node.
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Fifth Semester B.E. Degree Examination, Jan./Feb .2023
Computer Networks

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, ch,oosing ONE full question from each motlule,

Module-1
With gcncral lbnnat, explain the HTTP request and rcsponsc mcssagcs.
With neat diagranr, illustrate the basic operation of SMTP.

OR
[-.xplairr recursive querics in DNS with neat diagram.
With neat diagram, explarn DNS message fonnat.

Module-2
3 a. With general forn-rat. cxplain the vanous fields o1'UDP segment. E,xplarn how checksum is

calculated. (10 Marks)
t. Wrth neat diagram, explain the working of rdt 2.0. (10llarks)
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Note: Answer any FIVE.full questions, choosittg ONE full question from eoclt modttle.

1 a. Explain the main characteristr". oYffi*ase approach versus the fi1e processing

approach. (08 Nlarks)

b. Explain the three-scherna architecture with neat diagram. Why do r,ve necd rnapprng among
schema levels? How do different schema definition languages support this architecture?

(08 NIarks)

c. Discr,rss thc ciifferent types of uscr fi'iendly interfaccs and the types o1'uscr w'lto typically Lrsc

cach. (0,1 )Iarks)

oll
Explain with block diagram the different phases of database design. (08 Marks)

Design an E-R diagram for keeping track of information about a company database taking
into account of least five enttties. (08 Nlarks)

List the advantages of DBMS. (04 Nlarks)

N{odule-2
3 a. I)cscribc thc chtrractcristics of relations with suitable cxanrplc lbr cach. (Ott NIarks)

b. In SQL u,hich cornmand is used fbr tablc crcation? Lxplain with an cxarrplc along with thc

constraint specification. (0tl llarks)
c. Ixplain rhe dara typcs arailable fol attribute spccification in SQL. (04 Nlarkr)

OR
6 a. Consider the following company database:

I1MP (Namc. SSN. Salary, SuperSSN, DrTo)

DEPT (DNr"rnr, Dname, MgrSSN, Dno)
IlllPT LOC (DnLrrn, f)location)
DIPHNDENT (ESSN, Dep_name, Sex)

WORKS_ON (ESSN. Pno. I{ours)
PROJECT (Pname. Pnumber, Plocation, Dnum)
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OR
Discr"rss the null value and dangling tuple problems.
Explain the concept of BCNF.
nxpt ain properti es of rc lation al cieco mpos ition.

Module-5
Discuss the desirable propertics of transactions.
I:xplairr tlarrsuulion suppurt in SQL.
What is two-phasc lockurg protocol? How doe s it guarantcc scrializability'/

OR
Erplain:
(i) Mrrlti versiou concrrrrency control protocols
(ri) Shatlor,r paging
[:xpllin:
(i) NO-Ur.iDO/REDO Recovcry based on deferred upclate
(ri) Recovcry techniques based on immediate update


